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The paper in this book No. F370A

is made of 509, high grade rag stock
with- a WATER RESISTING surface sizing.
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TRIGONOMETRIC FORMULZE

B B B
/I a ¢ & %
4 4 (4]
b o b [/ b
Right Triangle L—— Oblique Triangles __’

Solution of Right 'l'rhngzu

! a a o ]
ir Angle A. sin =~ ece==.fan= 7, cot = = ,sec = 7, cosec = =

Gi i
' -ve‘nM!Reqund!_

.
Sl T
¥y

£3 B

o Eale Tess adedindile ST . = : -
ice less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,
ope di 3026 ft. Horizontal distance=302.6— ﬁ‘x—"z‘rms— 0.32=302.28 ft.

MADE IN U. 8. A.
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Right Triangle t—- Oblique Triangles
Solution of Right Triangles

b
- | r Angle 4. llll-?— ms—un-z,m-— m-;.m-%
7 4 :

Given | Required |
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rce o lais tm

b P 14 X 14 39~
ope dlmncf 302.6 ft. Holflzonm 302.6— 2% 3026 302.6—0.32=302.28 ft.
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Solution of Right Triangles

ir Angle 4. nn=‘-:- reos=—, tan= %,col-;.uc-—.eowe--:-
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1 the rise js known, the horizontal distance is approximately: —the slope dist-
ice len the square of the rise dividedn by twice the slope distance. Thus: rise=14 ft.,

& SR 14X 14 —0.32-302.98 ft.
ope di 3026 1t. H Y s
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TRIGONOMETRIC FORMULAE
B

(4 o
Right Triangle ?— Oblique Triangles
Solution of Right Triangles
ir Angle 4. sin =%.co:= -b-,nm= %.cot = %,nc=%, cosec = %

6.
Required sy |
A B, mnA-%=co(B.a-=\/a'+5‘=aJl+;;

T T

4, B, b |in‘{=:—=cm8.b=\/m=a\/l—:7
B bc| B=90°—A4,b=acotd, o= —

sin 4.

B, e, ¢ B=90°-—~A,a=btnnA,c=——b-

cos A.

B, a b B=90°—A4,a =¢sinA,b=ccos A,

Solution of Oblique Triangles
Required asin B : asn 0
b e C b=-.;1..7=180-(11+8).a- - g

B,s, C | sinB= '3““ 4 0= 18°—(4 + B),0 “:.nAo

4, B.o| A4B=180°—0C,tan}(4—-B)= (a_:'z)w_nk(A+B)

_a a sin 0
Sin 4

ﬂ=—~a+;+a,lin§A= ED‘ = 3 :_a

lin{uB‘—:\lti__l—?—,0=180°-—(A+B)
-;H—c' area = /3(3—a) (3—B) (#—0)

besin A

area =

a' sin B sin C
2sin 4

REDUCTION TO HORIZONTAL

Horizontal dist = Slope di multiplied by the
cosine of the vemcal mnle Thus: slope distance =319. 4 ft.
Vert. angle =5° 10. From Table, Page IX. cos 5° 10'=
.8859. Horizontal distance =319.4X.9559=2318.0 ft.
Horizontal distance also = Slope distance minus slo
distance times (1—cosine of vertical Anﬁle) With the
same figures as in the preredinz exnm e, the (ollow-
ing result is obtained. Cosine 5° 10" 9959=_.0041.
318.4>.0041 = 131 slﬂ.4—l al al&m ft
When the rise js known, the h y:—the slope dist-
Ice iess the square of the rise dwided by twnce the slope distnnce Thus rise=14 ft.,

ope dist 3026 f1. Horizontal distance=302.6— 14X 14 _g09 6 03030028 11.
2 % 302.6

area =

MADE IN U. 8. A.




